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Time :3 Hours

63527

Max. Marks:70

(5x2=10)

lnstructlon : Answers should be completely written either in Engllsh

or Kannada.

SECTION - A
.\..J
a^J?s'r r - a./

Answer any five questions. Each question carries two marks.

fdnd otn{de eca$ {, 4ri9rl erudo&. E.golaodr dd.to1" odd: eodrlgol
doo6d:dd.

1. a) Define money market.

dea dn$du[o$s*DrEqp&.

b) Expand:

o{0rr:

i) ABC

o.o.&.

ii) vED

&'q'a.

c) What is inventory ?
6reRb ooddeab ?

d) What is venture capital ?
maXoedrub e^loduog oodde$ ?

c;.ol\ r? o'al
P.T.O.

!
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e) What is fonarard contract ?

e?dFdr aooorga aoddeab ?

f) What is capital structure ?
a;odarog dzdd aodded: f

g) What is business valuation ?

u1,aad dPordndd aodded: t

SECTION _ B

DqDrl - D

Answer any three questions. Each question carries six marks. (3x6=18)
dSAd oJn{de d:/a& €,d4rl9d erudOlr. Eg €,d4o!.,a er& sodds$4 dno6d:dd.

2. Write a note on efficient market hypothesis.

dog)dJaoo dDdJdd derdoS: uri uidr6 udos:o.cJcJncJ

3. Explain the functions of financial markets.

deaaolo drodJdtj dS EJo$rd9.$ AdOrJ.cl oL

4. Sahana and Company need your help. Using sensitivity analysis advice the

company on risk associated with the project. The following information are given

below.

The rate of return is 10% for 4 years are 0'909' 0'826'

2

Prolect - O (t)Particulars

80,00080,000lnitial outlay

Annualcash flow

80,00050,000Optimistic
10,00030,000Pessimistic
40,00040,000Most likelY

resPectivelY'

0.751 and 0'683

Prolect - P (t)
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idoo d.:d: dodOri Odg iaaol:d elrldrad. eraiEobd dtod: dodoo$ dJatsdod)

Ad3d#od: nc.tdo$d1 u9B:{d: oloeadri ioDoQ:,d. adJddo$ dDb.9o$dJ4 dgri

0ederJRd.

olnetrd - dno (<)

udoq:d dal 80,000 80,000

mcllrd drld) dod)

50,000 80,000

30,000 10,000

40,000 40,000

u6"o$d dddr 4 ddrdo 10% sRd, 9dr6an 0.909, 0.826, 0.751 d)d) 0.683.

5. Shares of Ganesh Ltd. is currently selling at t 50 per share. Dividend of t 3

per share is paid at the end of 1 year. lt is estimated that after a year the price

will be T 53 per share. What is the present value of the share if required rate ol

return is 10% ? Should the share be bought ?

zl#ed O0:8a6d ded:rl$: d{d { S0/deori dDo"t;a"itrqd. Ec deori ( 3

oqnoddQ r.od: ddrd dodol:{oadgieDrbdd. t od; ddrd dodd €,e deod

de3T 53 errleld:d: aod> sooadiohd. deEd d$dQsaaoi:d elrldrad€_, deod

{,rgd #o, .ld}? decb sDoeoidefe ?

6. What is capital rationing ? Explain the factors determining capital rationing,

Doduod dadoeddsa aodded: ? uodua$ dagoeddsaddi &Cro$d uodrlgdl

adotu.

oinerd - e, (t)
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SECTION _ C

aqDrl -:r

Answer any three questions. Each question carries fourteen marks. (3x14=42)

d$nd obdde d)/!& 484rl9d erDgoA. {,goioo$ 4d4oj, daoauleiodrlg$n

dooodJgd.

7. Critically evaluate 'Profit Maximization' and 'Wealth Maximization' as two

important objective of financial management.

deaaa$ odrddo$ odd: {,dreD erudedrlvad 'eDC rloqriJaeiDad' abdl 'er&

,loddrDelDed' e$rl$d:o ad:uo r{daa h adJ&& u d os: o.

8. What is risk management ? Explain ditferent types of risks in the conteld of

internatlonal business.

erdd: 0drdd aodded> ? soddod5eo$ anroddO_ sd.gd aeC {,rodrl9d:*
&dotu.

9. From the following forecast of income and expenditures, prepare a cash budget

for the month January to March 2023.

Months Sales Purchases Wages Manulacturing Administration Selllng
(Credlt) (Credit) Expenses Expenses Expenses ^

tttttt
Nov. 2022

Dec.2022

Jan.2023

Feb.2023

March 2023

April 2023

30,000

35,000

25,000

35,000

35,000

40,000

15,000

20,000

15,000

20,500

22,000

25,000

3,000

3,200

2,500

3,000

2,400

2,600

1,'t50

1,225

900

1,050

1,100

1,060 500

1,040 550

1,100 600

1,150 620

1,220 570

1,880 7101,200
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dJaqot3d

Addltlonal inlormation is as follows :

a) The customers are allowed a credit period of 2 months.

b) A dividend of t 10,000 is payable in April 2023.

c) Capital expenditure to be incurred : A plant to be purchased on 15h January

2023tor < 5,000, a building to be purchased on l"tMarch 2023 and the

payment are to be made in the monthly installments of t 2,000 starting from

March month onwards.

d) The creditors are allowing a credit of 2 months.

e) Wages are paid on 1"tof next month.

f) Lag in payment of all other expenses is 1 month.

g) Balance of cash in hand on 1 "r January 2023 is t 1 5,000.

erool: d:d) dz*d f$nd &)dn^z3do9:od, 23ddo 8orl90od dnztrr gorlgddd drld)

udtf eld:o dol>o$ (ilro$ .9orl9 udr,tr).

Sodtbdtr:

ddor.ld 2022

Adoercrr 2022

addo 2023

dq,do 2023

dnz.fr 2023

Dger 2023

dJa6t.3

(96rr)

t

30,000

35,000

2s,000

35,000

35,000

40,000

a)oeadq)

(9at')

t

15,000

20,000

1s,000

20,500

22,000

25,000

rJdeg

dzld.i)u

{

deddrlqb gojDof

ddrl$ru

tt
delrlct)u

t

3,000 1 ,1 50 1 ,060 s00

3,200 1,22s 1,040 550

2,500 900 1,100 600

3,000 1,050 1,150 620

2,400 1,100 1,220 670

2,600 1,200 1,880 710
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dz$dO dDEog EoeRd:
8l

a) rgddod 2 &oilg EBr,f edQo$dl er$d)eneDnd.

b) t 1 0,000 crr?trrodddl a.!, e, 2023dO_ uodSidedr.

c) d>dderod uodaod dt^f : 15de trddo 2023dodr t 5,000dd t-od: radddd:o

$oe6ieDrbd)d: aarto do.rdd$4dD?,trr 1 ,2023d0d; sDoeAierJrbd)& $d)
d>ztrr eodgood< 2,000 il)rJd do$rlg{aad.g dndeDrb{d).

d) xaermd$ FailaDrlgzi 2 .9orl9 xoe;dQ s&$grr9o6d.

e) d::oad 9orl9 1 dod: dedd Oedcnrbdd.

f) aeq.add dr{;19 aadeol:O_a9or,Jd) 1 .9orlS:.

g) a3ddo 1, 2023dod dead aare3os t 15,000.

10. A company is considering 2 mutually exclusive projects X and Y. Project X costs
< 45,000 and project Y costs t 54,000. Following details are given to you.

Project X Project Y

NPV Estimate t Probability NPV Estimate t Probability

4,500 0.1 4,500 0.2

9,000 0.4 9,000 0.3

18,000 0.4 18,000 0.3

22,500 0.1 22,500 o.2

a) Compute the expected net present value of project X and Y.

b) Which project is more risky based on standard deviation and coetficient of

variation ?

c) Compute profitability index of each project.

63527
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dod&ojJ) 2 ddid eded oloeEddqd.l X drQ Y dodsdBrgd. a3d{X alel

{ 45,000 drd: a3d{Y Ljd t 54,000. dgnd addrl$&4 &dJri &€deDnd.

q,d#.rX ugddY

NPV eco6r?sr{ noqld0eo$d NPV eromcilt Soqldoeo$d

4,500 0.1 4,500 0.2

9,000 0.4 9,000

18,000 o.4 18,000

22,500 0.1 0.2

a) o3oerdod: X a$+ Y Ooetd 0dd9 €,f!d dpelrddl eiray,od dna.

b) agdJas6d ederd &Q drornd &maodd updd *:ee3 alnd o3oeadol:: dt3:o

suoo$rooalDRd ?

c) {,9 o3oeado$ enqloao3:ddo3: tn8rodddl e3royod dna.

'| 1. Give a brief note on ditferent basis of classification of business finance.

uoru'od dearoB: dherddgod eQd sqiadd d:eej iotd [,3dt6 Ddog)o.

0.3

0.3

22,500


